Multiply and Divide by Positive Powers of Ten (A)

Find each product or quotient.

3,1785:1.000 = 1:1.000 =
1,1:1.000 = 7,51:100 =
6,614 :1.000 = 5,7443:100 =
4,9:1.000 = 9:1.000 =
8,615 x 1.000 = 8,029 x 1.000 =
0,2525 x 100 = 6,5732 x 100 =
1,7203:10 = 1,896 x 100 =
7,86 X 1.000 = 7,26:10 =

1,27 x 100 = 3,24 X 1.000 =
6,349 x 1.000 = 7,7975:1.000 =
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1ltiply and Divide by Positive Powers of Ten (A) Answe

Find each product or quotient.

3,1785:1.000 = 0,0031785 1:1.000=10,001
1,1:1.000=0,0011 7,51:100=0,0751

6,614 :1.000 =0,006614 5,7443:100 =0,057443
4,9:1.000 = 0,0049 9:1.000 =0,009

8,615 x 1.000 = 8.615 8,029 x 1.000 = 8.029
0,2525 x 100 = 25,25 6,5732 X 100 = 657,32
1,7203:10=0,17203 1,896 x 100 = 189,6

7,86 X 1.000 = 7.860 7,26 :10 = 10,726

1,27 x 100 =127 3,24 x 1.000 = 3.240

6,349 X 1.000 = 6.349 7,7975:1.000 = 0,0077975
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Multiply and Divide by Positive Powers of Ten (B)

Find each product or quotient.

9,3549 x 1.000 = 0,589 x 10 =
7,1578 x 100 = 7,87 :10 =
9,5x%x10= 7,69 :1.000 =
1,206 x 100 = 2,2423:1.000 =
2,6537:100 = 5,0575:1.000 =
9,2x100 = 5,077 :100 =
7,2675:1.000 = 9,44 :100 =
9,2668 X 100 = 1,217 :10 =
58x%x10= 0,2:10=
6,0818 X 1.000 = 7,3 X100 =
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altiply and Divide by Positive Powers of Ten (B) Answe

Find each product or quotient.

9,3549 x 1.000 =9.354,9 0,589 x 10 = 5,89

7,1578 x 100 = 715,78 7,87 :10=10,787
9,5x10=95 7,69 :1.000 =0,00769
1,206 x 100 =120,6 2,2423:1.000 = 0,0022423
2,6537:100 =0,026537 5,0575:1.000 = 0,0050575
9,2 x100 =920 5,077 :100 = 0,05077
7,2675:1.000 =0,0072675 9,44 :100 = 0,0944

9,2668 X 100 = 926,68 1,217 :10=0,1217

58X 10=58 0,2:10=0,02

6,0818 x 1.000 = 6.081,8 7,3 x100=730
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Multiply and Divide by Positive Powers of Ten (C)

Find each product or quotient.

6,2:10 = 49209 x 1.000 =
4,1:1.000 = 6,63:100 =
1,973 :1.000 = 2,5x%x100=
4,4287 : 1.000 = 9,8:1.000 =
6,618 X 100 = 5152 x 10 =
9,8:10 = 7,47 X 10 =
9,6358:10 = 1,631:10 =

7,83 X 100 = 5,949 :1.000 =
1,08:10 = 52x100=

6,1 X 100 = 4,3878 :1.000 =
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ultiply and Divide by Positive Powers of Ten (C) Answe

Find each product or quotient.

6,2:10=0,62 49209 x 1.000 =4.920,9
4,1:1.000 =0,0041 6,63 :100=0,0663

1,973 :1.000 =0,001973 2,5 %100 =250

4,4287 :1.000 = 0,0044287 9,8:1.000 =0,0098

6,618 X 100 = 661,8 5,152 x 10 =51,52
9,8:10=10,98 7,47 X 10 = 74,7
9,6358:10 =0,96358 1,631:10=0,1631

7,83 x 100 =783 5,949 :1.000 = 0,005949
1,08:10=0,108 5,2x100=520

6,1 X 100 =610 4,3878 :1.000 = 0,0043878

Math-Drills.Com




Multiply and Divide by Positive Powers of Ten (D)

Find each product or quotient.

6,1601 X 1.000 = 1,646 X 1.000 =
8,8982:100 = 0,9616:1.000 =
9,1426 : 1.000 = 2,962 x 1.000 =
4,58:10 = 7,431:10 =
4,7943 x 10 = 9,1 x100 =
8,91 x 1.000 = 5,836 X 10 =
5,444 :100 = 4,367 x 10 =
1,82 x 100 = 3,8 X 10 =

3,76 X 100 = 2,256 x 1.000 =
6,176 X 10 = 6,12:10 =
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1ltiply and Divide by Positive Powers of Ten (D) Answe

Find each product or quotient.

6,1601 x 1.000 = 6.160,1 1,646 x 1.000 = 1.646
8,8982:100 = 0,088982 0,9616:1.000 = 0,0009616
9,1426 : 1.000 = 0,0091426 2,962 X 1.000 = 2.962
4,58:10=0,458 7,431:10=0,7431

4,7943 X 10 = 47,943 9,1 x 100 =910

8,91 x 1.000 =8.910 5,836 x 10 = 58,36

5,444 :100 = 0,05444 4,367 X 10 = 43,67

1,82 x 100 =182 3,8 x10=38

3,76 Xx 100 =376 2,256 X 1.000 = 2.256
6,176 X 10 = 61,76 6,12:10=10,612
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Multiply and Divide by Positive Powers of Ten (E)

Find each product or quotient.

2,6348 x 100 = 4,69 X 100 =
2,622:10 = 4,2 x 100 =
5,935 x 100 = 9,47 X 10 =
8,87 :10 = 9,993 X 100 =
3,7:1.000 = 1,2 X 1.000 =
4,9525:1.000 = 7,3 x10 =

6 X 1.000 = 0,7 x 100 =
7,66 X 1.000 = 9,39:10 =
0,49 x 100 = 55:1.000 =
8,8993:100 = 1,5x 100 =
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ultiply and Divide by Positive Powers of Ten (E) Answe

Find each product or quotient.

2,6348 X 100 = 263,48 4,69 X 100 = 469
2,622:10=0,2622 4,2 x 100 =420
5,935 x 100 =593,5 9,47 X 10 = 94,7
8,87 :10 = 0,887 9,993 x 100 =999,3
3,7:1.000=0,0037 1,2 X 1.000 = 1.200
4,9525:1.000 = 0,0049525 7,3x10=73

6 X 1.000 = 6.000 0,7x100=170

7,66 X 1.000 = 7.660 9,39:10=10,939
0,49 x 100 =49 5,5:1.000 = 0,0055
8,8993:100 = 0,088993 1,5x 100 =150
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Multiply and Divide by Positive Powers of Ten (F)

Find each product or quotient.

2,641:1.000 = 7,2058 X 1.000 =
0,87 x 10 = 8,359 X 10 =
3,55%x 10 = 1,2685 x 1.000 =
9,134:1.000 = 3,1 X100 =
6,5698:10 = 9,112:1.000 =
1,2 x 1.000 = 1,3748 x 10 =
5,341 x 10 = 4,023:100 =
2x100 = 7,5263:1.000 =
7,1 X 1.000 = 9,5:10 =

8,392 :1.000 = 49 :100 =
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ultiply and Divide by Positive Powers of Ten (F) Answe

Find each product or quotient.

2,641:1.000=0,002641

0,87 x 10 =8,7

3,55x10=35,5

9,134:1.000 =0,009134

6,5698:10 = 0,65698

1,2 X 1.000 = 1.200

5,341 x 10 = 53,41

2x 100 =200

7,1 x 1.000 = 7.100

8,392 :1.000 = 0,008392

7,2058 X 1.000 = 7.205,8

8,359 x 10 = 83,59

1,2685 x 1.000 = 1.268,5

3,1 x100=310

9,112:1.000 =0,009112

1,3748 x 10 = 13,748

4,023:100 = 0,04023

7,5263:1.000 =0,0075263

9,5:10=10,95

4,9 :100 = 0,049
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Multiply and Divide by Positive Powers of Ten (G)

Find each product or quotient.

6,722 :100 = 2,346 x 1.000 =
3,4 % 1.000 = 8,38 :1.000 =
7,8:100 = 3,301:10 =
5,85:1.000 = 9,2851 x 1.000 =
4,6 :1.000 = 0,48 X 1.000 =
4,87:100 = 7,902 x 100 =
2,8868:10 = 5,443 x 100 =
6,7768 :1.000 = 9,0062 x 1.000 =
3,4 % 1.000 = 2:100 =
585:10 = 4,808 x 100 =
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ultiply and Divide by Positive Powers of Ten (G) Answe

Find each product or quotient.

6,722 :100=0,06722 2,346 X 1.000 = 2.346
3,4 %x1.000 =3.400 8,38:1.000 =0,00838
7,8:100=0,078 3,301:10=0,3301
5,85:1.000 = 0,00585 9,2851 x 1.000 =9.285,1
4,6 :1.000 = 0,0046 0,48 X 1.000 =480

4,87 :100 = 0,0487 7,902 X 100 = 790,2
2,8868:10 = 0,28868 5,443 x 100 = 544,3
6,7768 :1.000 = 0,0067768 9,0062 x 1.000 =9.006,2
3,4 x 1.000 = 3.400 2:100=0,02
585:10=10,585 4,808 x 100 = 480,8
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Multiply and Divide by Positive Powers of Ten (H)

Find each product or quotient.

3,002 x 1.000 = 7,109:1.000 =
0,1:100 = 6,1292 X 10 =
1,411 x 100 = 1,8:100 =
7,1561 x 10 = 1,335 x 100 =
1,2 x 100 = 9,1184 x 1.000 =
0,915:1.000 = 3:100 =

8,6021 x 100 = 4,7 :1.000 =
1,247 x 10 = 7,3 X 100 =
9,2:100 = 8,42 x 100 =
7,21:1.000 = 8,799 x 1.000 =
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1ltiply and Divide by Positive Powers of Ten (H) Answe

Find each product or quotient.

3,002 x 1.000 = 3.002

0,1:100=0,001

1,411 x 100 = 141,1

7,1561 x 10 = 71,561

1,2x100=120

0,915:1.000 = 0,000915

8,6021 x 100 = 860,21

1,247 x 10 =12,47

9,2:100=0,092

7,21:1.000 =0,00721

7,109:1.000 =0,007109

6,1292 X 10 = 61,292

1,8:100=0,018

1,335 x 100 = 133,5

9,1184 x 1.000 =9.118,4

3:100=0,03

4,7 :1.000 = 0,0047

7,3 X100 =730

8,42 X 100 = 842

8,799 x 1.000 = 8.799
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Multiply and Divide by Positive Powers of Ten (I)

Find each product or quotient.

6,652 X 100 = 7,86 :1.000 =
2,095:1.000 = 8,3657 x 1.000 =
9,14:100 = 0,739 X 100 =
7,843 X 100 = 3,15:100 =
8,596 :1.000 = 4,6 X 1.000 =
9,6659:1.000 = 0,31:10 =
8,8428:1.000 = 7,309 X 1.000 =
2,9:10 = 3,205:10 =

2,17 x 100 = 0,3483:10 =
5,032 x 10 = 4,5 x 1.000 =
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ultiply and Divide by Positive Powers of Ten (I) Answe

Find each product or quotient.

6,652 X 100 = 665,2 7,86 :1.000 = 0,00786
2,095:1.000 =0,002095 8,3657 x 1.000 = 8.365,7
9,14:100=0,0914 0,739 x 100 =73,9
7,843 X 100 = 784,3 3,15:100=0,0315
8,596 : 1.000 = 0,008596 4,6 X 1.000 = 4.600
9,6659 :1.000 = 0,0096659 0,31:10=0,031
8,8428:1.000 = 0,0088428 7,309 X 1.000 = 7.309
2,9:10=0,29 3,205:10=0,3205

2,17 x 100 = 217 0,3483:10 =0,03483
5,032 x 10 = 50,32 4,5 x 1.000 = 4.500
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Multiply and Divide by Positive Powers of Ten (J)

Find each product or quotient.

2,526:100 = 6,769 X 100 =
0,3717:10 = 8,8 x 10 =
6,7974 :100 = 6,1658 x 1.000 =
7,1163:1.000 = 1,8559:1.000 =
3,21 X 1.000 = 9,1 x100 =
48:10 = 2,4004 x 10 =
9,12:10 = 8,1351:100 =

7 X100 = 8,7:10 =
3,1828 x 1.000 = 8,05 x 100 =
8,71:100 = 0,446 x 100 =
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ultiply and Divide by Positive Powers of Ten (]J) Answe

Find each product or quotient.

2,526 :100 =0,02526 6,769 X 100 = 676,9
0,3717:10=0,03717 8,8 x 10 =88

6,7974 :100 = 0,067974 6,1658 x 1.000 = 6.165,8
7,1163:1.000 = 0,0071163 1,8559:1.000 = 0,0018559
3,21 X 1.000 = 3.210 9,1 x 100 =910
48:10=10,48 2,4004 x 10 = 24,004
9,12:10=0,912 8,1351:100=0,081351

7 x100=700 8,7:10=10,87

3,1828 x 1.000 = 3.182,8 8,05 x 100 =805
8,71:100=0,0871 0,446 x 100 = 44,6
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